KARTA PRACY – KOLEJNOŚĆ WYKONYWANIA DZIAŁAŃ

1) 30 + 2 ∙ 6 =
2) 4 ∙ 3 + 2 ∙ 8 =
3) 15 : 3 + 6 ∙ 7 =
4) 24 : 8 ∙ 3 =
5) 4 + 7 ∙ 8 =
6) (21 – 11) ∙ 5 =
7) (40 – 4) : 9 =
8) (50 – 17) : (24 – 13) =
9) 18 + (43 – 15) = 
10) (4 + 3) ∙ (20 – 16) =
11) 64 – 40 : 8 =
12) 12 + 14 : 14 + 3 =
13) 23 + 17 ∙ 1 – 4 =
14) [bookmark: _GoBack]60 – 14 + 21 =
15) 24 + 32 – 7 ∙ 4 =

1) 50 – 16 : 2 =
2) 24 : 3 + 4 ∙ 5 =
3) 4 ∙ 8 + 3 ∙ 5 =
4) 5 + 32 : 8 =
5) 51 + 63 : 7 =
6) 2 ∙ (47 – 22) =
7) (50 – 6) : 11 =
8) (60 – 33) : (58 – 49) =
9) 17 + (48 – 19) =
10) (30 – 26) ∙ (5 + 2) =
11) 77 – 3 ∙ 6 =
12) 8 + 13 : 1 – 5 =
13) 30 – 15 : 15 + 7 =
14) 50 – 21 + 38 =
15) 48 – 24 + 36 : 9 =

